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wavelength λ /nm
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P60
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2,0

HPE_CIEF02_X cone sensitivity y−max(λ)=1
s−F02_X,1(λ)=B31x

−
F02_X,1(λ)+B32y

−
F02_X,1(λ)

+B33z
−

F02_X,1(λ)
B3j 0,000 0,000 0,5168 λ=440

P60:Σs−F02_X,1(λ)=12,03
xF02_X,1=0,3217
yF02_X,1=0,3315



CE450−3A_1

wavelength λ /nm
400 500 600 700

P55
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2,0

HPE_CIEF02_X cone sensitivity y−max(λ)=1
s−F02_X,1(λ)=B31x

−
F02_X,1(λ)+B32y

−
F02_X,1(λ)

+B33z
−

F02_X,1(λ)
B3j 0,000 0,000 0,5168 λ=440

P55:Σs−F02_X,1(λ)=11,00
xF02_X,1=0,3327
yF02_X,1=0,3410



CE450−3A_1

wavelength λ /nm
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P50
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1,0
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HPE_CIEF02_X cone sensitivity y−max(λ)=1
s−F02_X,1(λ)=B31x

−
F02_X,1(λ)+B32y

−
F02_X,1(λ)

+B33z
−

F02_X,1(λ)
B3j 0,000 0,000 0,5168 λ=440

P50:Σs−F02_X,1(λ)=9,87
xF02_X,1=0,3460
yF02_X,1=0,3518



CE450−3A_1

wavelength λ /nm
400 500 600 700

P45

0,0
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2,0

HPE_CIEF02_X cone sensitivity y−max(λ)=1
s−F02_X,1(λ)=B31x

−
F02_X,1(λ)+B32y

−
F02_X,1(λ)

+B33z
−

F02_X,1(λ)
B3j 0,000 0,000 0,5168 λ=440

P45:Σs−F02_X,1(λ)=8,66
xF02_X,1=0,3625
yF02_X,1=0,3640



CE450−3A_1

wavelength λ /nm
400 500 600 700

P40
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2,0

HPE_CIEF02_X cone sensitivity y−max(λ)=1
s−F02_X,1(λ)=B31x

−
F02_X,1(λ)+B32y

−
F02_X,1(λ)

+B33z
−

F02_X,1(λ)
B3j 0,000 0,000 0,5168 λ=440

P40:Σs−F02_X,1(λ)=7,35
xF02_X,1=0,3831
yF02_X,1=0,3775



CE450−3A_1

wavelength λ /nm
400 500 600 700

P35

0,0
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2,0

HPE_CIEF02_X cone sensitivity y−max(λ)=1
s−F02_X,1(λ)=B31x

−
F02_X,1(λ)+B32y

−
F02_X,1(λ)

+B33z
−

F02_X,1(λ)
B3j 0,000 0,000 0,5168 λ=440

P35:Σs−F02_X,1(λ)=5,98
xF02_X,1=0,4088
yF02_X,1=0,3916



CE450−3A_1

wavelength λ /nm
400 500 600 700

P30
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HPE_CIEF02_X cone sensitivity y−max(λ)=1
s−F02_X,1(λ)=B31x

−
F02_X,1(λ)+B32y

−
F02_X,1(λ)

+B33z
−

F02_X,1(λ)
B3j 0,000 0,000 0,5168 λ=440

P30:Σs−F02_X,1(λ)=4,56
xF02_X,1=0,4412
yF02_X,1=0,4051



CE450−3A_1

wavelength λ /nm
400 500 600 700

P25
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HPE_CIEF02_X cone sensitivity y−max(λ)=1
s−F02_X,1(λ)=B31x

−
F02_X,1(λ)+B32y

−
F02_X,1(λ)

+B33z
−

F02_X,1(λ)
B3j 0,000 0,000 0,5168 λ=440

P25:Σs−F02_X,1(λ)=3,15
xF02_X,1=0,4815
yF02_X,1=0,4147


